Name: Score: /10 243 Section 2 - HW 10 - Due: 2/1

Problem 1

Sketch the the set of points whose polar coordinates satisfy the given inequalities:

0<r<5 0<6<2r

1<r<2 0<60<2n

-1<r<1 7/6<0<7/2

0<6<w/6 no restriction on r
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Problem 2

Graph the curve r = 1 + cos(f). Then, give the equation of the tangent line (in the usual Cartesian
coordinates) at the point (r,6) = (3, %). Graph the tangent line on the graph of the curve.

Problem 3

Graph the curves r = 1 + 2 cos(d) and r = sin(20) (separately).



